

BIPOLAR FUZZY GRADATION OF OPENNESS

S. MUTHAMIZHSELVI and A. KALAICHELVI

Research Scholar Department of Mathematics Avinashilingam Institute for Home Science and Higher Education for Women Coimbatore, India

Abstract

In this paper Bipolar fuzzy gradation of openness and bipolar fuzzy gradation of closedness are introduced and analysed.

1. Introduction

In Zhang [6] introduced the notion of a bipolar fuzzy set. In, Kim, et al. [5] defined bipolar fuzzy point and obtain some of its properties and introduced the concept of bipolar fuzzy topology in the sense of chang [1]. Definition of bipolar fuzzy set- A bipolar fuzzy set in a non-empty set is a pair $A_{bp} = (A_{bp}^+, A_{bp}^-)$ where $A_{bp}^+: X \to [0, 1]$ and $A_{bp}^-: X \to [-1, 0]^n$. In Hazra, et al. [4] introduced the concept of gradation of openness. Using this concept they gave the new definition of bipolar fuzzy topology. In this articles [2, 3, 4], the authors developed a theory on gradation of openness. They associated a Chang fuzzy topology with every gradation of openness and vice versa. Also they introduced the definition of gradation preserving maps. In this paper, the concept of gradation of openness is extended to bipolar fuzzy topological spaces.

2. Preliminary Definitions

Definition: 2.1 [5]. Let X be a non-empty set. Then a pair 2020 Mathematics Subject Classification: 34Dxx, 93Dxx.

Keywords: Bipolar fuzzy set, Bipolar fuzzy topology, Bipolar fuzzy gradation of openness, Bipolar fuzzy gradation of closedness.

Received October 5, 2020; Accepted November 10, 2020

 $A_{bp} = (A_{bp}^+, A_{bp}^-)$ is called *bipolar-valued fuzzy set or bipolar fuzzy set* in, X where $A_{bp}^+ : X \to [0, 1]$ and $A_{bp}^- : X \to [-1, 0]$. The set of all bipolar fuzzy set in X is denoted as BPF(X).

Definition: 2.2 [5]. The *bipolar fuzzy null set* denoted by $0_{bp} = (0_{bp}^+, 0_{bp}^-)$ is a bipolar fuzzy set in X defined as $0_{bp}^+(x) = 0$ and $0_{bp}^-(x) = 0$, for each $x \in X$.

Definition: 2.3 [5]. The *bipolar fuzzy whole set* denoted by $1_{bp} = (1_{bp}^+, 1_{bp}^-)$ is a bipolar fuzzy set in X defined as $1_{bp}^+(x) = 1$ and $1_{bp}^-(x) = -1$, for each $x \in X$.

Definition: 2.4 [5]. Let X be a non-empty set and let $A_{bp} = (A_{bp}^+, A_{bp}^-), B_{bp} = (B_{bp}^+, B_{bp}^-)$ be bipolar fuzzy sets in X. Then

(i) A_{bp} is a *subset* of B_{bp} , denoted by $A_{bp} \subset B_{bp}$ is defined as

 $A_{bp}^+(x) \leq B_{bp}^+(x)$ and $A_{bp}^-(x) \geq B_{bp}^-(x)$, for each $x \in X$.

(ii) The *complement* of A_{bp} is denoted by $A_{bp}^c = ((A_{bp}^c)^+, (A_{bp}^c)^-)$ is a bipolar fuzzy set in X defined as

$$((A_{bp}^{c})^{+}(x) = 1 - A_{bp}^{+}(x) \text{ and } (A_{bp}^{c})^{-}(x) = -1 - A_{bp}^{-}(x), \text{ for each } x \in X.$$

(iii) The *intersection* of A_{bp} and, B_{bp} denoted by $A_{bp} \cap B_{bp}$ is a bipolar fuzzy set in X defined as

$$(A_{bp} \cap B_{bp})(x) = (A_{bp}^+(x) \land B_{bp}^+(x), A_{bp}^-(x) \lor B_{bp}^-(x)), \text{ for each } x \in X.$$

(iv) The *union* of A_{bp} and B_{bp} , denoted by $A_{bp} \cup B_{bp}$ is a bipolar fuzzy set in *X* defined as

$$(A_{bp} \cup B_{bp})(x) = (A_{bp}^+(x) \vee B_{bp}^+(x), A_{bp}^-(x) \wedge B_{bp}^-(x)), \text{ for each } x \in X.$$

(v) The intersection of $((A_{bp})_{\lambda})_{\lambda \in \Lambda}$, a collection of bipolar fuzzy subsets in

X denoted by $\bigcap_{\lambda \in \Lambda} (A_{bp})_{\lambda}$ is a bipolar fuzzy set in *X* defined as

$$(\bigcap_{\lambda \in \Lambda} (A_{bp})_{\lambda})(x) = (\wedge_{\lambda \in \Lambda} ((A_{bp})_{\lambda}^{+})(x), \vee_{\lambda \in \Lambda} ((A_{bp})_{\lambda}^{-})(x)), \text{ for each } x \in X.$$

(vi) The union of $((A_{bp})_{\lambda})_{\lambda \in \Lambda}$, a collection of bipolar fuzzy subsets in X denoted by $\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}$, is a bipolar fuzzy set in defined as

$$(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda})(x) = (\lor_{\lambda \in \Lambda} ((A_{bp})_{\lambda}^{+})(x), \land_{\lambda \in \Lambda} ((A_{bp})_{\lambda}^{-})(x)), \text{ for each } x \in X.$$

Definition: 2.5 [5]. Let *X* be a non-empty set and let $\mathfrak{B} \subset BPF(X)$. Then \mathfrak{B} is called a *bipolar fuzzy topology on X*, if it satisfies the following axioms:

- (i) 0_{bp} , $1_{bp} \epsilon \mathfrak{B}$.
- (ii) $A_{bp} \cap B_{bp} \epsilon \mathfrak{B}$, for any A_{bp} , $B_{bp} \subset \mathfrak{B}$.
- (iii) $\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda} \epsilon \mathfrak{B}$, for any $((A_{bp})_{\lambda})_{\lambda \in \Lambda} \subset \mathfrak{B}$.

In this case the pair (X, \mathfrak{B}) is called a bipolar fuzzy topological space and each member of \mathfrak{B} is called a bipolar fuzzy open set (*BPFOS*) in X. $A_{bp} \in BPF(X)$ is said to be closed in X, if $A_{bp}^c \in \mathfrak{B}$. The set of all bipolar fuzzy topologies on X is denoted as BPFT(X).

Definition: 2.6. Let (X, \mathfrak{B}) be a bipolar fuzzy topological space. Let $Y \subseteq X$. Let $A_{bp} = (A_{bp}^+, A_{bp}^-) \in \mathfrak{B}$. Define $A_{bp}/Y = (A_{bp}^+/Y, A_{bp}^-/Y)$ such that $(A_{bp}^+/Y)(z) = A_{bp}^+(z)$ and $(A_{bp}^-/Y)(z) = A_{bp}^-(z)$, for all $z \in Y$. Define $(\mathfrak{B}/Y) = \{(A_{bp}/Y) \mid A_{bp} \in \mathfrak{B}\}$ Then (\mathfrak{B}/Y) is called the *bipolar fuzzy subspace topology on* Y and $(Y, \mathfrak{B}/Y)$ is called a *bipolar fuzzy subspace of* (X, \mathfrak{B}) or simply Y is called a *bipolar fuzzy subspace* of X.

Definition: 2.7 [5]. Let X and Y be a non-empty set, let $A_{bp} \in BPF(X)$ and $B_{bp} \in BPF(Y)$ let $\theta : X \to Y$ be a mapping. Then

(i) The image of A_{bp} under θ , denoted by $\theta(A_{bp}) = (\theta(A_{bp}^+), (A_{bp}^-))$, is a bipolar fuzzy set in Y defined as follows: for each $y \in Y$.

$$\left[\theta(A_{bp}^{+})(y) = \begin{cases} \bigvee_{x \in \theta^{-1}(y)} A_{bp}^{+}(x), \text{ if } \theta^{-1}(y) \neq \phi \\ 0, \text{ otherwise} \end{cases}\right]$$

and

$$\left[\theta(A_{bp}^{-})(y) = \begin{cases} \wedge_{x \in \theta^{-1}(y)} A_{bp}^{-}(x), \text{ if } \theta^{-1}(y) \neq \phi \\ 0, \text{ otherwise} \end{cases}\right]$$

(ii) The pre-image of B_{bp} under θ , denoted by $\theta^{-1}(B_{bp}) = (\theta^{-1}(B_{bp}^+), \theta^{-1}(B_{bp}^-))$, is a bipolar fuzzy set in defined as follows: for each $x \in X$.

$$[\theta^{-1}(B_{bp}^+)](x) = B_{bp}^+(\theta(x))$$
 and $[\theta^{-1}(B_{bp}^-)](x) = B_{bp}^-(\theta(x))$

Definition: 2.8. Let (X, \mathfrak{B}_1) and (Y, \mathfrak{B}_2) be two bipolar fuzzy topological spaces. A mapping $\theta : X \to Y$ is a bipolar fuzzy continuous if for all $A_{bp} \in \mathfrak{B}_2$, $\theta^{-1}(A_{bp}) \in \mathfrak{B}_1$.

3. Bipolar Fuzzy Gradation of Openness

Definition: 3.1. Let be a non-empty set. A mapping $\mathcal{G} : BPF(X) \to I$ is said to be bipolar fuzzy gradation of openness over *X*, iff the following axioms are satisfied:

$$(BPFGO1) \mathcal{G}(0_{bp}) = \mathcal{G}(1_{bp}) = 1$$
$$(BPFGO2) \mathcal{G}((A_{bp})_i) > 0, \text{ for } i = 1 \text{ to } m$$
$$\Rightarrow \mathcal{G}(\bigcap_{i=1}^m (A_{bp})_i) = 0.$$
$$(BPFGO3) \mathcal{G}((A_{bp})_{\lambda}) > 0, \text{ for all } \lambda \in \Lambda$$

$$\Rightarrow \mathcal{G}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) > 0$$

Therefore (X, \mathcal{G}) is called bipolar fuzzy gradation space.

Definition: 3.2. Let be a non-empty set. A mapping $\mathfrak{F} : BPF(X) \to I$ is said to be bipolar fuzzy gradation of closedness over X iff the following

Advances and Applications in Mathematical Sciences, Volume 21, Issue 4, February 2022

1706

conditions are satisfied:

$$(BPFGC1)\mathfrak{F}(0_{bp}) = \mathfrak{F}(1_{bp}) = 1.$$
$$(BPFGC2)\mathfrak{F}((A_{bp})_{\lambda}) > 0, \text{ for } \lambda \in \Lambda$$
$$\Rightarrow \mathfrak{F}(\bigcap_{\lambda \in \Lambda} (A_{bp})_{\lambda}) > 0$$
$$(BPFGC3)\mathfrak{F}((A_{bp})_{i}) > 0, \text{ for } i = 1 \text{ to } m$$
$$\Rightarrow \mathfrak{F}(\bigcup_{i=1}^{m} (A_{bp})_{i}) > 0$$

.

Definition: 3.3. Let (X, \mathcal{G}) be a bipolar fuzzy gradation space. Then the bipolar fuzzy topology on Xinduced by is given by $\mathfrak{B}(\mathcal{G}) = \{A_{bp} \in BPF(X) \mid \mathcal{G}(A_{bp}) > 0\}.$

Definition: 3.4. Let \mathcal{G}_1 and \mathcal{G}_2 be two bipolar fuzzy gradation of openness on X. Then $(\mathcal{G}_1) \ge (\mathcal{G}_2)$ if $\mathcal{G}_1(A_{bp}) \ge \mathcal{G}_2(A_{bp})$, for all $A_{bp} \in BPF(X).$

Definition: 3.5. Let (X, \mathcal{G}) be a bipolar fuzzy gradation space and $A_{bp} \in BPF(X).$ Then \mathcal{G} -closure of denoted by A_{bp} , $\mathcal{G}cl(A_{bp}) = \bigcap \{ B_{bp} \in BPF(X); \mathfrak{F}_{\mathcal{G}}(B_{bp}) > 0, \ B_{bp} \supseteq A_{bp} \}$

Note:

(i) $\mathfrak{F}_{\mathcal{G}}(\mathcal{G}cl(A_{bp})) > 0$ and

For every $A_{bp}, B_{bp} \in BPF(X), A_{bp} \supseteq B_{bp}$ (ii) implies that $\mathcal{G}cl(A_{bp}) \supseteq \mathcal{G}cl(B_{bp})$

Definition: 3.6. Let $(X, \mathcal{G}_1), (Y, \mathcal{G}_2)$ be two bipolar fuzzy gradation spaces. Then a map $\theta: X \to Y$ is called

(i) a bipolar fuzzy gradation preserving map, if $(\mathcal{G}_2)(A_{bp})$ $\leq (\mathcal{G}_1)(\theta^{-1}(A_{bp})), \text{ for each } A_{bp} \in BPF(Y).$

(ii) a bipolar fuzzy strongly gradation preserving map, if $(\mathcal{G}_2)(A_{bp})$

 $= (\mathcal{G}_1)(\theta^{-1}(A_{bp})), \text{ for each } A_{bp} \in BPF(Y).$

(iii) a bipolar fuzzy weakly gradation preserving map, if

$$(\mathcal{G}_2)(A_{bp}) > 0 \Rightarrow (\mathcal{G}_1)(\theta^{-1}(A_{bp})) > 0, \text{ for each } A_{bp} \in BPF(Y).$$

Definition: 3.7. Let be a non-empty set. A mapping $\mathcal{G}_* : 2^X \to I$ is said to be crisp gradation of openness on X, iff the following conditions are satisfied:

(i)
$$\mathcal{G}_*(\phi) = \mathcal{G}_*(X) = 1$$

(ii) $\mathcal{G}_*(A_i) > 0$, for $i = 1$ to m
 $\Rightarrow \mathcal{G}_*(\bigcap_{i=1}^m A_i) > 0$
(iii) $\mathcal{G}_*(A_\lambda) > 0$, for $\lambda \in \Lambda$
 $\Rightarrow \mathcal{G}_*(\bigcup_{\lambda \in \Lambda} A_\lambda) > 0$

Therefore (X, \mathcal{G}_*) is a crisp gradation space. Then the topology on X induced by \mathcal{G}_* is $\mathfrak{B}(\mathcal{G}_*) = \{A \in 2^X / \mathcal{G}_*(A) > 0\}$

Definition: 3.8. Given $A = 2^X$ define $A_{bp} = (A_{bp}^+, A_{bp}^-)$ as $A_{bp}^+ : X \to [0, 1]$ such that $A_{bp}^+(x) > 0$, if $x \in A$ and $A_{bp}^+(x) = 0$, if $x \notin A$, $A_{bp}^-X \to [-1, 0]$ such that $A_{bp}^-(x) < 0$, if $x \in A$ and $A_{bp}^-(x) = 0$, if $x \notin A$. Therefore $A_{bp} \in BPF(X)$.

Definition : 3.9. Let $\mathcal{G} : BPF(X) \to I$ be a bipolar fuzzy gradation of openness on X. Define $\mathcal{G}_* : 2^X \to I$ such that $\mathcal{G}_*(A) = \mathcal{G}(A_{bp})$. Then \mathcal{G}_* is a crisp gradation of openness on X.

Theorem: 3.10. Let \mathcal{G} be a bipolar fuzzy gradation of openness on X and $\mathfrak{F}_{\mathcal{G}}$: $BPF(X) \to I$ be a mapping defined by $\mathfrak{F}_{\mathcal{G}}(A_{bp}) = \mathcal{G}(A_{bp}^c)$. Then $\mathfrak{F}_{\mathcal{G}}$ is a bipolar fuzzy gradation of closedness on X.

Proof: Let \mathcal{G} be a bipolar fuzzy gradation of openness on X.

Advances and Applications in Mathematical Sciences, Volume 21, Issue 4, February 2022

1708

To prove: $\mathfrak{F}_{\mathcal{G}}\,$ is a bipolar fuzzy gradation of closedness on X

(i)
$$\mathfrak{F}_{\mathcal{G}}(0_{bp}) = \mathcal{G}(0_{bp}') = \mathcal{G}(1_{bp}) = 1$$
 (by(BPFGO1))
 $\mathfrak{F}_{\mathcal{G}}(1_{bp}) = \mathcal{G}(1_{bp}') = \mathcal{G}(0_{bp}) = 1$ (by(BPFGO1))

(ii)
$$\mathfrak{F}_{\mathcal{G}}(\bigcup_{i=1}^{m} (A_{bp})_i) = \mathcal{G}(\bigcup_{i=1}^{m} (A_{bp})_i)^c$$

$$= \mathcal{G}(\bigcap_{i=1}^{m} (A_{bp})_i^c) > 0 \quad (by(BPFG02))$$

(iii) $\mathfrak{F}_{\mathcal{G}}(\bigcap_{\lambda \in \Lambda} (A_{bp})_{\lambda}) = \mathcal{G}(\bigcap_{\lambda \in \Lambda} (A_{bp})_{\lambda})^{c}$

$$= \mathcal{G}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}^{c}) \quad (by(BPFGO3))$$
$$= \mathfrak{F}_{\mathcal{G}}(\bigcap_{\lambda \in \Lambda} (A_{bp})_{\lambda}) > 0$$

Therefore $\mathfrak{F}_{\mathcal{G}}$ is a bipolar fuzzy gradation of closedness on X.

Theorem: 3.11. Let \mathfrak{F} be a bipolar fuzzy gradation of closedness on X and $\mathcal{G}_{\mathfrak{F}}$: $BPF(X) \to I$ be a mapping defined by $\mathcal{G}_{\mathfrak{F}}(A_{bp}) = \mathfrak{F}(A_{bp}^c)$. Then $\mathcal{G}_{\mathfrak{F}}$ is a bipolar fuzzy gradation of openness on X.

Proof: Let \mathfrak{F} be a bipolar fuzzy gradation of closedness on *X*.

To prove: $\mathcal{G}_{\mathfrak{F}}$ is a bipolar fuzzy gradation of openness on X

(i)
$$\mathcal{G}_{\mathfrak{F}}(0_{bp}) = \mathfrak{F}(0_{bp}^c) = \mathfrak{F}(1_{bp}) = 1$$
 (by(BPFGC1))

$$\mathcal{G}_{\mathfrak{F}}(1_{bp}) = \mathfrak{F}(1_{bp}^c) = \mathfrak{F}(0_{bp}) = 1 \quad (by(BPFGC1))$$

(ii) $\mathcal{G}_{\mathfrak{F}}(\bigcap_{i=1}^{m} (A_{bp})_i) = \mathfrak{F}(\bigcap_{i=1}^{m} (A_{bp})_i)^c$

 $= \mathfrak{F}(\bigcup_{i=1}^{m} (A_{bp})_{i}^{c}) > 0 \quad (by(BPFGC2))$

 $\Rightarrow \mathcal{G}_{\mathfrak{F}}(\bigcap_{i=1}^{m} (A_{bp})_i) > 0$

(iii) $\mathcal{G}_{\mathfrak{F}}((\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) = \mathfrak{F}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda})^{c}$

 $= \mathfrak{F}(\bigcap_{\lambda \in \Lambda} (A_{bp})^c_{\lambda}) \quad (by(BPFGC3))$

$$\Rightarrow \mathcal{G}_{\mathfrak{F}}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) > 0$$

Therefore $\mathcal{G}_{\mathfrak{F}}$ is a bipolar fuzzy gradation of openness on *X*.

Remark: 3.12. Let \mathcal{G} be a bipolar fuzzy gradation of openness on X and \mathfrak{F} be a bipolar fuzzy gradation of closedness on X. Then

- (i) $\mathcal{G}_{\mathfrak{F}_{\mathcal{G}}} = \mathcal{G}$
- (ii) $\mathfrak{F}_{\mathcal{G}_{\mathfrak{F}}} = \mathfrak{F}$

Theorem: 3.13. Let (X, \mathcal{G}) be a bipolar fuzzy gradation space. Then

- (i) $Gcl(0_{bp}) = 0_{bp}$
- (ii) $\mathcal{G}cl(A_{bp}) \supseteq A_{bp}$
- (iii) $\mathcal{G}cl((A_{bp})_1 \cup (A_{bp})_2) = \mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2$
- (iv) $\mathcal{G}cl(\mathcal{G}cl(A_{bp}) = \mathcal{G}cl(A_{bp}))$

Proof: Proof of (i) and (ii) are obvious

To prove (iii)

Let
$$(A_{bp})_1$$
 and $(A_{bp})_2 \in BPF(X)$, from (ii),

$$\mathcal{G}cl(A_{bp})_2 \supseteq (A_{bp})_2$$
 and $\mathcal{G}cl((A_{bp})_2 \supseteq (A_{bp})_2$

$$\Rightarrow \mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2 \supseteq (A_{bp})_1 \cup (A_{bp})_2$$

From the definition of bipolar fuzzy gradation of closedness,

$$\mathfrak{F}_{\mathcal{G}} = ((A_{bp})_i) > 0$$
, for $i = 1$ to 2

$$\Rightarrow \mathfrak{F}_{\mathcal{G}}(\mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2) > 0$$

Since $\mathfrak{F}_{\mathcal{G}}(\mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2) > 0$ and $\mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2$ $\supseteq (A_{bp})_1 \cup (A_{bp})_2$

Then
$$\mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2 \supseteq \mathcal{G}cl((A_{bp})_1 \cup (A_{bp})_2)...(1)$$

Now to prove $\mathcal{G}cl((A_{bp})_1 \cup (A_{bp})_2) \supseteq \mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2$
We know that $(A_{bp})_1 \subseteq (A_{bp})_1 \cup (A_{bp})_2$ and $(A_{bp})_2 \subseteq (A_{bp})_1 \cup (A_{bp})_2$
 $\Rightarrow \mathcal{G}cl(A_{bp})_1 \subseteq \mathcal{G}cl(A_{bp})_1 \cup (A_{bp})_2)$ and $\mathcal{G}cl(A_{bp})_2 \subseteq \mathcal{G}cl((A_{bp})_1 \cup (A_{bp})_2)$
 $\Rightarrow \mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2 \subseteq \mathcal{G}cl((A_{bp})_1 \cup (A_{bp})_2)$
 $\Rightarrow \mathcal{G}cl((A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2) \supseteq \mathcal{G}cl(A_{bp})_1 \cup (A_{bp})_2...(2)$
from (1) and (2) $\mathcal{G}cl((A_{bp})_1 \cup (A_{bp})_2) = \mathcal{G}cl(A_{bp})_1 \cup \mathcal{G}cl(A_{bp})_2$
Proof of (iv) is obvious.

Theorem : 3.14. Let (X, \mathcal{G}) be a bipolar fuzzy gradation space. Then for each $A_{bp} \in BPF(X)$, $\mathfrak{F}_{\mathcal{G}}(A_{bp}) > 0$ iff $A_{bp} = \mathcal{G}cl(A_{bp})$.

Proof: Let (X, \mathcal{G}) be a bipolar fuzzy gradation space. Assume, $\mathfrak{F}_{\mathcal{G}}(A_{bp}) > 0$, for each $A_{bp} \in BPF(X)$. To prove: $A_{bp} = \mathcal{G}cl(A_{bp})$ $\mathcal{G}cl(A_{bp}) = \bigcap \{B_{bp} \in BPF(X) \mid \mathfrak{F}_{\mathcal{G}}(B_{bp}) > 0, B_{bp} \supseteq A_{bp}\}$

 $= A_{bp}$

(since $\mathfrak{F}_{\mathcal{G}}(A_{bp}) > 0$, then A_{bp} is a member of above collections and also every member contains A_{bp}) therefore $A_{bp} = \mathcal{G}cl(A_{bp})$. Conversely, Assume $A_{bp} = \mathcal{G}cl(A_{bp})$ To prove: $\mathfrak{F}_{\mathcal{G}}(A_{bp}) > 0$ By the definition of \mathcal{G} -closure of A_{bp}

 $\mathcal{G}cl(A_{bp}) = \bigcap \{B_{bp} \in BPF(X) \mid \mathfrak{F}_{\mathcal{G}}(B_{bp}) > 0, \ B_{bp} \supseteq A_{bp} \} \text{ it is clear that}$ $\mathfrak{F}_{\mathcal{G}}(\mathcal{G}cl(A_{bp})) > 0$

$$\Rightarrow \mathfrak{F}_{\mathcal{G}}(A_{bp}) > 0.$$

Theorem: 3.15. Let $\{\mathcal{G}_k, k = 1, 2, ..., n\}$ be a finite family of bipolar fuzzy gradation of openness on X Then $\mathcal{G} = \bigcap_{k=1}^n \mathcal{G}_k$ is a bipolar fuzzy gradation of openness on X.

Proof: Let $\{\mathcal{G}_k, k = 1, 2, ..., n\}$ be a finite family of bipolar fuzzy Advances and Applications in Mathematical Sciences, Volume 21, Issue 4, February 2022 gradation of openness on X. Let $\mathcal{G} = \bigcap_{k=1}^{n} \mathcal{G}_k$ To prove: $\mathcal{G} = \bigcap_{k=1}^{n} \mathcal{G}_k$ is a bipolar fuzzy gradation of openness on X.

(i)
$$\mathcal{G}(0_{bp}) = \bigcap_{k=1}^{n} \mathcal{G}_k(0_{bp})$$

= $\mathcal{G}_1(0_{bp}) \wedge \mathcal{G}_2(0_{bp}) \wedge \mathcal{G}_3(0_{bp}) \dots \wedge \mathcal{G}_n(0_{bp})$
= 1

(since for each \mathcal{G}_k , $k = 1, 2, \dots n$ is a BPFG01)

$$\begin{aligned} \mathcal{G}(1_{bp}) &= \bigcap_{k=1}^{n} \mathcal{G}_{k}(1_{bp}) \\ &= \mathcal{G}_{1}(1_{bp}) \wedge \mathcal{G}_{2}(1_{bp}) \wedge \mathcal{G}_{3}(1_{bp}) \dots \wedge \mathcal{G}_{n}(1_{bp}) \\ &= 1 \end{aligned}$$

(since for each \mathcal{G}_k , $k = 1, 2, \dots n$ satisfies the condition BPFG01)

(ii)
$$\mathcal{G}_k(A_{bp})_i = \bigcap_{k=1}^n \mathcal{G}_k(A_{bp})_i$$
, for $i = 1$ to m
= $\mathcal{G}_1(A_{bp})_i \wedge \mathcal{G}_2(A_{bp})_i \wedge \mathcal{G}_3(A_{bp})_i \dots \wedge \mathcal{G}_n(A_{bp})_i > 0$,

for i = 1 to m

$$\Rightarrow \mathcal{G}(A_{bp})_{i} > 0$$
(since for each $\mathcal{G}_{k}(A_{bp})_{i} > 0$, for $i = 1$ to m)
$$\Rightarrow \mathcal{G}(\bigcap_{1=1}^{m} (A_{bp})_{i}) = \bigcap_{k=1}^{n} \mathcal{G}_{k}(\bigcap_{1=1}^{m} (A_{bp})_{i})$$

$$= \mathcal{G}_{1}(\bigcap_{1=1}^{m} (A_{bp})_{i}) \wedge \mathcal{G}_{2}(\bigcap_{1=1}^{m} (A_{bp})_{i}) \wedge \dots \wedge \mathcal{G}_{n}(\bigcap_{1=1}^{m} (A_{bp})_{i}) > 0$$
(since for each $\mathcal{G}_{k}(\bigcap_{1=1}^{m} (A_{bp})_{i}) > 0$, $k = 1, 2, \dots n$)
$$\Rightarrow \mathcal{G}(\bigcap_{1=1}^{m} (A_{bp})_{i}) > 0$$
(iii) $\mathcal{G}(A_{bp})_{\lambda} = \bigcap_{k=1}^{n} \mathcal{G}_{k}(A_{bp})_{\lambda}$, for all $\lambda \in \Lambda$

$$= \mathcal{G}_{1}(A_{bp})_{\lambda} \wedge \mathcal{G}_{2}(A_{bp})_{\lambda} \wedge \mathcal{G}_{3}(A_{bp})_{\lambda} \dots \wedge \mathcal{G}_{n}(A_{bp})_{\lambda} > 0$$
,

for all $\lambda = \Lambda$

$$\Rightarrow \mathcal{G}(A_{bp})_{\lambda} > 0$$
(since for each $\mathcal{G}_{k}(A_{bp})_{\lambda} > 0$, for all $\lambda \in \Lambda$)
$$\Rightarrow \mathcal{G}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) = \bigcap_{k=1}^{n} \mathcal{G}_{k}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda})$$

$$= \mathcal{G}_{1}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) \wedge \mathcal{G}_{2}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) \wedge \dots \wedge \mathcal{G}_{n}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}),$$

$$k = 1, 2, \dots, n$$

$$\Rightarrow \mathcal{G}(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) > 0$$

(since for each $\Rightarrow \mathcal{G}_k(\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda}) > 0, \ k = 1, \ 2 \dots 2, \ n)$

Therefore $\mathcal{G} = \bigcap_{k=1}^{n} \mathcal{G}_k$ is a bipolar fuzzy gradation of openness on X.

Theorem : 3.16. Let $(X, \mathcal{G}_1), (Y, \mathcal{G}_2)$ be two bipolar fuzzy topological spaces and be a $\theta : X \to Y$ function. Then the following conditions are equivalent.

(i) θ is a bipolar fuzzy weakly gradation preserving map.

(ii) $\theta(\operatorname{Gcl}(A_{bp})) \leq \operatorname{Gcl}(\theta(A_{bp}))$, for all $A_{bp} \in BPF(X)$.

Proof: Let $(X, \mathcal{G}_1), (Y, \mathcal{G}_2)$ be two bipolar fuzzy topological spaces and $\theta: X \to Y$ be a Function

To prove:- (i) \Rightarrow (ii)

Let us assume that (i) holds, that is $\mathcal{G}_2(A_{bp}) > 0 \Rightarrow \mathcal{G}_1(\theta^{-1}(A_{bp})) > 0$, for each $A_{bp} \in BPF(X)$. Then for each $A_{bp} \in BPF(X)$

$$\theta^{-1}(\mathcal{G}cl(\theta(A_{bp}))) = \theta^{-1}[\cap \{B_{bp} \in BPF(Y) : \mathfrak{F}_{\mathcal{G}_2}(B_{bp}) > 0 \qquad \text{and} \\ \mathbb{C}_{F_{abs}} \supset \theta(A_{bbs})\}]$$

 $B_{bp} \supseteq \theta(A_{bp})\}]$

$$= \theta^{-1}[\cap \{B_{bp} \in BPF(Y) : \mathfrak{F}_{\mathcal{G}_1}(\theta^{-1}(B_{bp})) > 0$$

and $B_{bp} \supseteq \theta(A_{bp})$]

$$\geq \cap \{\theta^{-1}(B_{bp}) \in BPF(X) : \mathfrak{F}_{\mathcal{G}_{1}}(\theta^{1}(B_{bp})) > 0, \theta^{-1}(B_{bp}) \geq \theta^{-1}(\theta(A_{bp})) \geq A_{bp} \}$$

$$\geq \cap \{D_{bp} \in BPF(X) : \mathfrak{F}_{\mathcal{G}_{1}}(D_{bp}) > 0, D_{bp} \supseteq A_{bp} \}$$

$$\geq \mathcal{G}cl(A_{bp})$$

$$\Rightarrow \theta^{-1}(\mathcal{G}cl(\theta(A_{bp}))) \geq \mathcal{G}cl(A_{bp})$$

$$\Rightarrow \mathcal{G}cl(\theta(A_{bp})) \geq (\mathcal{G}cl(A_{bp}))$$

$$\Rightarrow \theta(\mathcal{G}cl(A_{bp})) \leq \mathcal{G}cl(\theta(A_{bp})), \text{ for all } A_{bp} \in BPF(X)$$

Therefore (i) \Rightarrow (ii)
To prove:- (ii) \Rightarrow (i)

Let us assume (ii) holds, that is $\theta(\mathcal{G}cl(A_{bp})) \leq \mathcal{G}cl(\theta(A_{bp}))$, for all $A_{bp} \in BPF(X)$. From the theorem – (), we have, for each $B_{bp} \in BPF(Y)$.

$$\mathcal{G}_{2}(B_{bp}) > 0 \Rightarrow \mathfrak{F}_{\mathcal{G}}((B_{bp})^{c}) > 0 \text{ iff } \mathcal{G}cl(Bbp))^{c} = (B_{bp}^{c})$$

Since $\theta(\operatorname{Gcl}(\theta^{-1}(B_{bp}^{c}))) \subseteq \operatorname{Gcl}(\theta^{-1}(B_{bp}^{c}))) \subseteq (B_{bp}^{c})$, we have $\operatorname{Gcl}(\theta^{-1}(B_{bp}^{c})) \subseteq \theta^{-1}(B_{bp}^{c})$

Hence,

$$\mathfrak{F}_{\mathcal{G}_{1}}(\theta^{-1}(B_{bp}^{c})) > 0 \Longrightarrow \mathfrak{F}_{\mathcal{G}_{1}}(\theta^{-1}(B_{bp}))^{c} > 0$$
$$\Rightarrow \mathcal{G}_{1}((\theta^{-1}(B_{bp})^{c})^{c} > 0$$
$$\Rightarrow \mathcal{G}_{1}(\theta^{-1}(B_{bp})) > 0$$

Therefore θ is a bipolar fuzzy weakly gradation preserving map.

Theorem: 3.17. let $\theta : (X, \mathcal{G}_1) \to (Y, \mathcal{G}_2)$ is a bipolar fuzzy weakly gradation preserving map iff $\theta : (X, \mathfrak{B}(\mathcal{G}_1)) \to (Y, \mathfrak{B}(\mathcal{G}_2))$ is a bipolar fuzzy continuous.

Proof: Assume is a bipolar fuzzy gradation preserving map.

Advances and Applications in Mathematical Sciences, Volume 21, Issue 4, February 2022

1714

To prove: $\theta : (X, \mathfrak{B}(\mathcal{G}_1)) \to (Y, \mathfrak{B}(\mathcal{G}_2))$ is a bipolar fuzzy continuous.

Let
$$A_{bp} \in \mathfrak{B}(\mathcal{G}_2)$$

 $\Rightarrow \mathcal{G}_2(A_{bp}) > 0 \text{ (since } \mathfrak{B}(\mathcal{G}) = \{A_{bp} \in BPF(X)/\mathcal{G}(A_{bp}) > 0\})$

 $\Rightarrow \mathcal{G}_2(\theta^{-1}(A_{bp})) > 0$ (since θ is a bipolar fuzzy weakly gradation preserving map)

$$\Rightarrow \theta^{-1}(A_{bp}) \in \mathfrak{B}(\mathcal{G}_1)$$

Therefore $\boldsymbol{\theta}$ is bipolar fuzzy continuous

Conversely,

Assume $\theta : (X, \mathfrak{B}(\mathcal{G}_1)) \to (Y, \mathfrak{B}(\mathcal{G}_2))$ is a bipolar fuzzy continuous.

To prove: θ : $(X, \mathfrak{B}(\mathcal{G}_1)) \to (Y, \mathfrak{B}(\mathcal{G}_2))$ is a bipolar fuzzy weakly gradation preserving map

Let
$$\mathcal{G}_2(A_{bp}) > 0$$

 $\Rightarrow A_{bp} \in \mathfrak{B}(\mathcal{G}_2)$
 $\Rightarrow \theta^{-1}(A_{bp}) \in \mathfrak{B}(\mathcal{G}_1)$
 $\Rightarrow \mathcal{G}_2(\theta^{-1}(A_{bp})) > 0$

Therefore θ is a bipolar fuzzy weakly gradation preserving map.

Theorem: 3.18. For $A \in 2^{I}$, $A \subseteq [0, 1] = I$, define $(A_{I})_{bp} = ((A_{I})_{bp}^{+}, (A_{I})_{bp}^{-})$ as $(A_{I})_{bp}^{+}$; $I \to [0, 1]$ such that $(A_{I})_{bp}^{+}(x) = A$, for all $x \in X$ and $(A_{I})_{bp}^{-}$; $I \to [-1, 0]$ such that $(A_{I})_{bp}^{-}(x) = 0$, for all $x \in X$. Therefore $(A_{I})_{bp} \in BPF(I)$.

Let \mathcal{G} be a bipolar fuzzy gradation of openness on X. Define $(\mathcal{G}_I)_*: 2^I \to I$ such that $(\mathcal{G}_I)_*(A) = \mathcal{G}(A_I)_{bp}$. Then $(\mathcal{G}_I)_*$ is a crisp gradation of openness on X.

Theorem: 3.19. Given $A_{bp} \in BPF(I)$, where $A_{bp}^+ : I \to [0, 1]$ and $A_{bp}^- : I \to [-1, 0]$. Fix $\alpha \in I$ Define $(A_{bp})_{\alpha} \subseteq I$ such that $(A_{bp})_{\alpha} = \{A_{bp}^+(\alpha)\}$, singleton set. Let $(\mathcal{G}_* : 2^I \to I$ be a crisp gradation of openness on I. Define $\mathcal{G}_{\alpha} : BPF(I) \to I$ such that $\mathcal{G}_{\alpha}(A_{bp}) = \mathcal{G}_*((A_{bp})_{\alpha})$. Then \mathcal{G}_{α} is a bipolar fuzzy gradation of openness on X.

Theorem: 3.20. Let $\mathcal{G}_* : 2^I \to I$ be a crisp gradation of openness on I. Let X be any non-empty set. Fix $x \in X$, $\mathcal{G}_x : BPF(X) \to I$ such that $\mathcal{G}_x(A_{bp}) = \mathcal{G}_*\{A_{bp}^+(x)\}$, singleton $\{A_{bp}^+(x)\}$. Then \mathcal{G}_x is a bipolar fuzzy gradation of openness on X.

Theorem: 3.21. Let $\mathcal{G} : BPF(X) \to I$ be a bipolar fuzzy gradation of openness on X. Let $\mathcal{G}_c : BPF(X) \to I$ such that $\mathcal{G}_c(A_{bp}) = \mathcal{G}(A_{bp}^c)$. Then \mathcal{G}_c is a bipolar fuzzy gradation of openness on.

References

- C. L. Chang, Fuzzy Topological Spaces, journal of Mathematical Analysis and Applications 24 (1968), 182-190.
- [2] K. C. Chattopadhyay, R. N. Hazra, and S. K. Samanta, Gradation of openness: Fuzzy Sets and Systems 49 (1992), 237-242.
- [3] K. C. Chattopadhyay, R. N. Hazra and S. K. Samanta, Fuzzy Topology Fuzzy Closure Operator, Fuzzy Compactness and Fuzzy Connectedness, Fuzzy Sets and Systems 54 (1993), 207-212.
- [4] R. N. Hazra, S. K. Samanta and K. C. Chattopadhyay, Fuzzy Topology Redefined, Fuzzy Sets and Systems 45 (1992), 79-82.
- [5] Kim, et al, Bipolar fuzzy topological spaces, Annals of Fuzzy Mathematics and Informatics 17(3) (2019), 205-229.
- [6] W. R. Zhang, Bipolar fuzzy sets and relations: a computational framework for cognitive modeling and multiagent decision analysis, Proc. of IEEE conference (1994), 305-309.